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Section I — Prescribed Text — Plato, Crito
35 marks
Attempt Questions 1-3

Allow about 1 hour for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

Question 1 (10 marks)

Translate BOTH extracts into ENGLISH.

3

(a) Q. Kot yop dv, ® Kpitov, mAnuueleg €in ayovoktelv 4

TNALKOVTOV OVTo, €1 81 NON TEAEVLTOV.

KP. Kol dAlot, & Zdxpateg, TnAlkodtol £€v 1o1o0Talg
GUUOOPOLS GALGKOVTOL, GAL 0VOEV 0VTOVG ETLAVETOL M
NAkia 10 un ovyl GYOVOKTELV T TapOVGT TUXT.

¥Q. "Eott to0ta. GAAG TL 01 0VTo Tp® Adl&ot;

KP. "Ayyelov, ®@ Zdxpotec, 0€pmv YOAERNV, 00 6oi, B¢ €uol
doivetal, OAL €U0l KOl TOlG 601G EMLTNOELOLS TAGLY KOl
YOAETMV KOl Bopeilav, v €70, OG €Uol dOK®, €V TOLG
BopvtoT GV EVEYKOLUL.

PLATO Crito 43b10—c8

(b) OAA €K UEV TOVTOV TOV TOTOV ATOPELS, NEELG 08 €1 OetToAlav 6
nopo. 100G EEvoug Toug Kpltmvog; €xel yop dn mheiot drtadio
KOl GKOAOGLO, KOl 100G OV NOEMG 6OV GKOVOLEV MG YEAOLMG €K
T0V dEOUMTNPLOV ANESLIPOCKES GKEVNV TE€ TLVA TEPLOEUEVOG,
il S160épav Aapav 7| dAro oo 87 eidBacty évokevdlesdor ol
OmOd1OPACKOVTES, KOL TO GYNUO TO COVTOV UETOAAGENSG OTL
d€ yEp@V Avnp, oULKpoL xpovov @ Pl Aoimol OVTog ™G TO
€1K0C, £TOAMUNGAG 0VT® YALoYpOg EmtBuuely {nv, vououg ToUg
ueyiotouvg mopofdc, 0VIELG 0G EPEL; 16MS, AV UN TLVO ALTNG
el 8¢ un, dxovom, O Zdkpateg, TOAAL Kol AvEElo GaVTOD.
VIEPYOUEVOG O PBLdon mAvVTaS AvOpOToug Kol dOVAEVLOV —
L TOLOV 1 €VWYOVUEVOS €v O€TTOALQ, Oomep €ml delmvov
AmodedNUNKOG €16 OeTTOALOV;

PLATO Crito 53d1—-e6



Question 2 (15 marks) Use a SEPARATE writing booklet.

Read the extracts, then answer the questions that follow. Use the extracts and your
knowledge of the text in your answers.

(a) YQ. Dépe 5, TOS 00 TO TOLAVTO EAEYETO; YLUVOLOUEVOC AVIP
KOl TOVTO TPOTTOV TOTEPOV TOVTOG OVOPOG £MOIV® KOl
YOYm Kol d6EN TOV VOOV TPOGEYEL, 1| £VOG LOVOL €KELVOL
0g GV TLYY AV LaTPOG 1 TOLd0TPiPNG dv;

KP. ‘Evog pdvov.

>Q. Ovkovv ¢ofelcBor ypmn TOVG WYoOYouvg Kol domdlecbat
TOVG €MOLVOVG TOVG TOV €VOG €KELVOL GAAQ UT) TOVG TOV
TOAADV.

KP. Ania on.

2Q. Tavt dpa 0OTd TPOKTEOV KOl YUUVOCGTEOV KOl £0EGTEOV
Y€ Kol ToTéov, 1) Av Td £vi doKT, T@ EmLeTdn Kol énotovTt,
uoALov §j 1| cvumoct Tolg GALOLG.

KP. "Eott t0v70.

>Q. Elev. dnednocag 8¢ 10 Vi kol dTLpdoag 0vtod Th S6Eav
KOl TOVG €MOLVOVG, TIUNGOG OE TOVG TV TOAADY [AdYoUS]
Kol undev £naidvinv, dpa 0VdEV KoKOV TeiceTon;

KP. Tlog yap ov;

2Q. Ti & €otL 10 KaKOV TOVTO, KOl TOl TELVEL, KOl €1¢ Tl TAV
70V Ane1BoLVTOG;

KP. Anlov 0t €1G 10 6®U0" T00T0 YO SLOALLGL.

PLATO Crito 47a12—c7

(i) Explain the significance of Socrates’ reference to yopuvalouevog avnp.

(i1)) How does this extract advance Socrates’ argument?

Question 2 continues on page 4



Question 2 (continued)

(b) Ny &, €nedn 0 Adyog oVTMG OLPEL, UN 0VAEV dAAO
okentéov | | Omep vuvdn €Aéyouev, motepov Sixoia
TPALOUEV KOl YXPNUOTA TEAOVVIEG TOVTOLS TOLG EUE
€vBévde €E£ACovoLy Kal XApLTOG, Kol 00Tol €EAYOVTEG TE
Kol €€ayouevor, 1| ™) GANOELQ ASLKNOOUEV TAVTO, TAVTO!
TOLOVVTES" KOV oatvouedo ddiko ovta epyoloduevot,
un ov 8€n vmoAoyilecHar oUT el amobviokelv Oel
TOPAUEVOVTOG KAl Novylov dyoviag, oVTte GAAO OTLOVV
TOGYELV TPO TOV OOLKELV.

KP. KoAdg pév pot Soxeig Aéyelv, & Zdxpotec, Opo 8¢ Tl
OpOUEV.

YQ. Txondpev, ® Gyadé, kowv, kol el nn éxelg dvtiiéyely
€U0V AEYOVTOG, AVTIAEYE Kal GOl melocopol €1 e um,
nodool Hidn, ® HoKApLE, TOAAIKLG Lol AEYmV TOV 0TOV
Adyov, g ypn €vOEvde dkovIoV "AbBnvalmv €ue amtévor:
0G £Y® TEPL TOALOV TOLOVUAL TELGOG OE TOVTO TPATIELY,
OAAO, Um GKOVTOG,.

PLATO Crito 48c6—5

(i) Briefly outline Socrates’ reasoning in this extract.

(ii) What is the relationship between Crito and Socrates as portrayed in this
extract?

Question 2 continues on page 5



Question 2 (continued)

() A oUtwg el c000g dote AEANBEY oe OTL uNTPdC 1€ Kol TaTpog
KOl TOV GAA@V TPOYOVOV OTAVIOV TIULOTEPOV €GTLV TATPLG
KOl GEUVOTEPOV KOL OYLOTEPOV KAl €V puetlovt pHoipg Kol Tapo
Be01g KOl mop’ AvVOPOTOLS TO1G VOV €X0VGt, Kal o€Pfecbat del
KOl HOAAOV VTelkely kol Bmmevely Tatpldo YOAETOLVOLGOV
N Tatépo, Kol 1 TeElBeLV 1| TOLELY O AV KEAEL, KOl TAGKELV
€4v TL TPooTtdTty Tabelv Novyxiav dyovto, €dvie TOmTEGOHOL
gavte detlcbol, €dvie €ig mOAepov dyn TpoONCOUEVOV T
amoBavoUuUEVOV, TOINTEOV TOVTA, KOl TO dlKalov oVT®G €)EL,
KOl OV)l UTELKTEOV OVOE AVOYMPNTEOV OVOE AELTTEOV TNV
Ta&lv, GALG KOl €v TOAEU® Kal €V d1KAoTNPL® KOl ToVTOY 0D
motéov & v kehevn ) TOALG kol 1 moTpic, i meiBelv adTHV 1
70 dixkatov méhpuke: PralecHor 8 ovy OGLoV OVTE UNTEPO. OVTE
TOTEPQ, TOAD 8€ ToVTOV €Tt fjTToV TV ToTpido;"

PLATO Crito 51a7—c3

Explain how the language used in this extract contributes to the persuasiveness
of the argument.

End of Question 2



Your answer will be assessed on how well you:

m demonstrate knowledge and understanding of the text as a work of literature

m present a logical and cohesive response to the question, supported by relevant examples

Question 3 (10 marks) Use a SEPARATE writing booklet.

Read the extract, then answer the question that follows.

2Q.

2Q.

KP.
2Q.

KP.

AMO T MUy, @ pokdple Kpitov, obto thg 10V ToAldv S6ENg
UEAEL;
PLATO Crito 44c6-7

Aéyo 3 ad 10 uetd 10070, HOALoV & Epatd TOTEPOV O GV TIg
OloAoynon T dikoia 6vio ToINTEOV 1| £E0maTnTEOV;
ITowntéov.
"Ex to0tov on dOpetl. aniovieg €vOEVOE NUETS UT TELGOVTEG THV
TOALY TTOTEPOV KAKAOG TLVOG TOLOVUEV, KAl TOUTA 0V NKLOTO
de1, fi o¥; kol guuévopev olg OUOLOYHcaUEY dikaiolg oVGLY 1
ov;
Ovk €y, 0 Zoxpotec, dnokpivachol mpoc O Epatag ov Yo
EVVOD.

PLATO Crito 49e5-50a5

Explain the significance of these extracts for the structure of Socrates’ argument in

the Crito.
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Section II — Prescribed Text — Aristophanes, Clouds

35 marks
Attempt Questions 4—6
Allow about 1 hour for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

Question 4 (10 marks) Use a SEPARATE writing booklet.

Translate BOTH extracts into ENGLISH.

(a) de. 4
€10’ ddeA’ 1 TpoUvNoTPL ATOAECHOL KAKDG
NTLG LE YN ETNPE TNV OGNV UNTEPOL.
£uol yop Mv dypotkog fiditetog Piog,
EVPOTLAV, AKOPNTOG, E1KT KELUEVOC,
Bpvwv peilttalg Kol TpoPdTolg Kol GTEUGVAOLGS. 45
€nelt €ynuo MeyokA€ovg 100 MeyokA€oug
AdeAOLONY AYpOLKOG BV €5 AOTEMG,
GEUVNV, TPLODCOV, EYKEKOLGVPOUEVNV.

ARISTOPHANES Clouds 41a—48

(b) Xp. Kol 10T €0eANCELS ATOUOCOL Lol TOVS BEOVG 6
1V v KEAEVO® YO OF;
p TOVG TOloVG BE0VG;
Xp. 10V Alo, 10v ‘Epunv, tov IToceldo.
1. V1| Alo,

KOV TpooKoTafeiny y', doT ouocot, tpltopforov. 1235
Xp. amdrotlo toivuv Evex’ avaldelog £Tt.
>1.  aiolv draounybeig 6vort dv oLTOGt.
Xp. oily’ og xatoyeAdc.
P €€ Y00 YOPNOETAL.
Xp. ovtol Ho Tov Ato TOV H€Yav Kot ToLG BE0VG
€10V KaTtompoiEet.
P Bovuocing obnv Beolc, 1240
KOl Z€VG YEAOLOG OULVULEVOGS TO1G ELOOGLY.
Xp. 7 ufv ob 100TOV 10 YpOVe ddoeilg diknv.
OAN €17 AmodWoELGg oL T XPAUOT €1TE Un,
OTOTEUWYOV ATOKPLVAUEVOG.

ARISTOPHANES Clouds 1232-1244



Question 5 (15 marks) Use a SEPARATE writing booklet.

Read the extracts, then answer the questions that follow. Use the extracts and your
knowledge of the text in your answers.

(a) Yo. amoxpivoal vuv a1t av EpouoL.

p AEYE VUV TOYEOG OTL BOVAEL. 345

Y. 1dn ot dvapréyog e1deg vedéAny keviadpo ouoiav
N TapdAAeL 1| AVK® T} TOOPW;

>1. vi Al” éyoy’. €lta 1l t0010;

Yo. yiyvovtal Téve 1t BovAoviar kGt fiv pev i8wot kounmy
dypLov Tvo Tdv Aaciov T00Tav, 01OVIEP TOV ZEVOHAVIOU,
OKOTTOVCOL TNV LOVIOY aVTOD KEVTOVPOLG HKACOYV OUTAS. 350

1. Tl yop Mv Gpmayo TV dnuociev kotidoot Zipova, Tl

dpacLy;

Yo. anooaivovsal Ty ¢voLy 00Tob AOkol €Ealhvng EYEvovTo.

X1 1007 dpa, tovto Kiedvupov adtol tOv piyocmiy x0&c

1dovoot,
OTL BEIAOTOTOV TOVTOV EMP®V, EA0OOL 610 TOVT €YEVOVTO.
To. xol vov ¢ 6t KietoBévn eidov, 6pag, 810 1001 £yévovTto
YUVOLKEG,. 355

ARISTOPHANES Clouds 345-355

(i) What is Socrates explaining to Strepsiades?

(ii) Explain the reference to kevtavpolg in line 350.

Question 5 continues on page 9



Question 5 (continued)

(b) ® coddtartol Beatatl, SeVpo TOV VOOV TpocEyeTe: 575
NOLKNUEVOL YOp VULV UEUDOUESDH EVOVTLOV.
TAELoTO Yap OE@V OTAVIOV OOGEAOVGOLG THV TOALY
doUOVeV MUV udvalg ov BUET 0VOE omEVeTE,
aitiveg tmpoduey VoG fiv yop N tig #£0d0¢
undevi ELV v@, 10T N Bpovidpev 1 yokdalouey. 580
elta 10v Beoloty £x0pov Bupcodéyny Tadroydva
nviy Npelebe otpatnydv, Tag 0OpLS Euviyouey
KOTOOVUEV dELVT, BpovTn & €ppdyn 61’ AoTpATNC.
N oeAnvn & €€éreiney 10Gg 0800G, O & NALOG
v OpLOAALS’ €lg £0VTOV VOEWG ELVELKVGOG 585
0V davely £0ackev VULV €1 otpatnyncol KAEwv.
OAN Opeg €llecBe TovTOV: oL Yap dusPfoviiav
TOE TN TOAEL TPOGELVOL, TOVTA LEVTOL TOVS OE0VG,
a1t av VUELS eEoudpTnT, €Nl T0 PEATIOV TPETELY.

ARISTOPHANES Clouds 575-589

Explain what this extract reveals about the function of the Chorus in this play.

(c) 100 100.
®g NdoUOL GOV TPMTA THV YPOLOV 1OMV.
VOV pév ¥’ 18€lv el mpdtov £EopvnTikog
KOVTIAOYLKOG, KOl TOVTO TOVTLYOPLOV
ateyvog €mavoel, 10 "t AEyeLg 00;" Kol SoKELY
ad1kovT adikeilcBat, kol Kakovpyodvt, oid OtL. 1175
€T TOV TPOGMTOV T €0TLV 'ATTIKOV BAETOC.
VOV 00V Ontwg cdoelg W, £nel kKAnOAESC.

ARISTOPHANES Clouds 1171a-1177

Explain how this extract provides grounds for the speaker’s optimism.

End of Question 5
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Your answer will be assessed on how well you:
m demonstrate knowledge and understanding of the text as a work of literature
m present a logical and cohesive response to the question, supported by relevant examples

Question 6 (10 marks) Use a SEPARATE writing booklet.

Read the extracts, then answer the question that follows.

Y1 0épe Tig yop 00Tog 0Nl THG KPEUGOpOG AVIpP;

Mo. avtdc.
p Tig a0Tog;
Mo. 2oKpaTNne.
3. ® TokpdTng.
16" 00t0¢ dvaBoncov ovToV pot uéya. 220

Ma. 0010 HEV 0DV 6L KGAEGOV" 00 YEp Lol GYOAT.
3T @ ZOKPOTEC.
® Tokpatidiov.

2QKPATHX
TL HE KOAELG, O OHUEPE;
>T. mp@tov pev 01t dpag, AvILPoA®, KATELTE UOL.

Yo. GePoPatd KOl TEPLOPOVA TOV NALOV. 225

ARISTOPHANES Clouds 218-225

Ym. €VONUELY XpM TOV TPESPVTNY KOl THG EVYNG EXAKOVELV.
® 8¢omot dvak, duétpnt "Anp, Og £xelg v YAV UETE®POYV,
Aoumpoc T AlOnNp, oepvoi te Beal Neoerat Bpovinciképavvor, 265
dpOnte, GAvNT, ® déomoivat, 1@ GPOVILOTH LETEMPOL.

ARISTOPHANES Clouds 263-266

Yo. 180V kpepal” oc NAlBLov €00€yEato
KOl TOLGL XELAEGLY dLEPPUNKOCLV.
g Av udOot mo6’ 0vTog EmdOEVELY Sikng
N KANGLY 1) X0OVOGLY GVATELGTNPLOY; 875
KOL1TOl TOAGVTOV T0VT €nabev TrepPorog.

ARISTOPHANES Clouds 872-876

Using these extracts as a starting point, explain how Aristophanes draws humour from
his presentation of Socrates in Clouds.

~10-
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Section III — Unseen Texts
30 marks
Attempt Questions 7-8

Allow about 1 hour for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

Your translation will be assessed on how well you:
m demonstrate understanding of the text by translating into clear and fluent English

m demonstrate your understanding of the content and style of the author by selecting
vocabulary appropriate to the context

Question 7 (15 marks) Use a SEPARATE writing booklet.

Read the extract, then answer the questions that follow.

Peisetaerus encounters a visitor who wants to settle in the birds’
new city in the sky.

FATHER BEATER. Aha! Nothing’s as much fun as flying! Yes, I'm
bird-crazy, I'm on the wing, I want to live with you, I yearn for
your laws.

PEISETAERUS. What laws do you mean? Birds have many laws.

[TA. mdaviev: pditeto & 0Tl KOAOV voulletot
TOV TOTEPO, TOLG OPVLOLY AYYELY KOL OAKVELV.
ITE. «xol v AU avdpeilov ye mavu vouilouev,
0G OV TEMANYT TOV TATEPO, VEOTTOG BV. 1350
ITA. d10 ToVTO LEVTOL BEVP’ AVOLKLODELG EYD
dyYEeLV ETOLUG TOV TOTEPQ KAl TAVT EXELV.
[TE. &AL €0tV NULV TOIGLY OPVIGLY VOUOG
TOAOLOG €V TOLG TOV TEAOPYOV KVPPESLY”
€NV O TP O TEAOPYOG EKTETNGLUOVG 1355
TAVTOG TOLNOT TOVG TEAAPYLONG TPEDOV,
J€1 TOVG VEOTTOVG TOV TOTEPO. TAALY TPEDELV.
ITA. dnélovod tap’ v vi Al €éABav €vOodt,
elmep Y€ Lol KOl TOV TOTEPA BOCKNTEOV.

ARISTOPHANES Birds 1347-1359

Translation "Peisetaerus encounters a visitor who wants to settle in the birds' new city in the sky." Extract
(78w) from p.77 from chapter entitled 'Aristophanes Birds 1347-1359’ from Aristophanes The Birds edited
by W.W. Merry (1904). Reproduced by permission of Oxford University Press

Question 7 continues on page 13

12—



Question 7 (continued)

(a)
(b)
(©)
(d)
(e)

Spvic, 6pviBog O
Ayyo

TANTTO

veottdg O
avotxifouat
neAoPYOg O
KVpPelg at
£mnv
EKTETNOLLOG, -0V
TEAOPYLOEVS O

dmorov®

bird

strangle, throttle, choke

strike, beat

young bird, chick

migrate

stork

tablets (on which laws were inscribed)
= €nel av

ready to fly, fully fledged

young stork

have a benefit, come off well

Why is tov motépo. (line 1348) in the accusative case?

What gender is avOpeldv (line 1349)?

Why is motnon (line 1356) in the subjunctive mood?

Translate the Greek extract into ENGLISH.

Why do the visitor’s expectations change?

End of Question 7

13—
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Question 8 (15 marks) Use a SEPARATE writing booklet.

Read the extract, then answer the questions that follow.

Socrates and Euthyphro discuss the behaviour of wrongdoers when
brought to trial.

2Q.

EYO.

Q.

EYO.

2Q.

EYO.

2Q.

EYO.

Awaiting copyright

Ti &8¢; avopdnmv, & EVO0opav, Hdn tivog fixovoog
OUHLEPNTOVVTOC OG TOV GdIKMG GTOKTELVAVTO | GALO
0d1K®G TOLOVVTA OTLOVY 0V ST dlKNV d1d0VOL;

Ov8ev uev odv mavovtol Tavta GudteBnTovvieg Kol
dAoBL kol €v Tolg dikootnplolg GOLKOVVIEG YOp
TOUTOAAQ, TTAVTO, TOLOVOL KOl AEYOUGL GEVYOVTES TV
dtkmv.

"H xoi oupoAoyovolv, & Ev00Opov, Gdikelv, ol
OLOAOYOVVTEG OUMG OV SELV dacl 6hOG dLdOVOL dlKNV;
Ovdopumdg 10010 YE.

OvKk dpo mOV YE WOLOVGL KAl AEYOUGL TOVTO YOpP
olpol oV ToAu®cL Aéyely o008 dudiopntely, B¢ oyl
einep adikovot ye dotéov dixknv, GAL olual ob dpaocty
adikelv: 7y Y4p;

"AMnOn Aéyerc.

OvKk dpa €KELVO YE GUPLGPNTOVGLY, OG0V TOV AdLKOVVTOL
d€1 d186val diknv, GAL €kelvo 1omg AudLtePfnTtovoty, 1o
T1g €6TLV 0 AdLKOV KOl Tl dpAV KOl TOTE.

"AXnOn Aéyerc.

PLATO Euthyphro 8b7-d7

Question 8 continues on page 15

_14 -
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Question 8 (continued)

(a)
(b)
(c)
(d)
(e)

auoLoPnTED dispute, argue
dAro6L elsewhere
TAUTOAVG, -TOAAT, -TOAV  very much

oh0G = €0VT00G

Why is T1vog (line 1) in the genitive case?

With which word does 0tLoVv (line 3) agree?
Which ONE Greek word in the extract means the same as d€l d1dovor?
Translate the Greek extract into ENGLISH.

What features of Socrates’ method of inquiry are illustrated in this extract?

End of paper

— 15—
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